. AB. Q101. LESSON 1 HOMEWORK
Write each function w1th0{t the absolute value symbol using a p1ecew1se representation.
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Report the domain using SET and INTER ations.
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Mixed Review (Algebra Essentials)

E§El]

14-3x - z
8. Solve the inequality: —5 < <1 104 [v-3x< -‘?y(yz x ¢ 8’1
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9. Solve the inequality: x> —10>3x EX /_m i o oy “%JZ
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10. Solve the inequality: lx = 3| & 5
s, 7
' %3 <4 ed x-334 {{?CJ A < x ¢ /L})
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11. Solve the inequality: |2x 7|>3

2x-7 53 on Ax-7<-3 Z,)C}._oo<x<?.or S‘<'¥(ooﬂ
XSS or x< 2
12. Write an equation of a line (in point-slope form) that passes through the points (1,7) and (-3, 2).

2- 71 -5 ¢ _
mT e Y T Y ;77 /x-/)z

————————
i

Rk *V(X'r&)




O -F[J(:)) ¥(\}') b—(\r;,
g(fn)= i) = lemm e o: facf-vexe v

raﬂ

_—_ . 2+h)—
13. Simplify the expression f(\#forthe function f(x)=x>+6x—4.
2x+3; x<0
~ 14. Graph the function f(x)={x*; 0<x<2. SEE Gampr
1; x=>2
X-2 =
|x-2| —= , xX-1)o0 [
15. Graph the function g(x)={ x-2" x#2 Srr Cumers , X’LS (‘— ) *E
_ 37 (M= —(x-2 2 ¢ o,
0 — ¥ —~2 (&) - x <
; x=2 J P i j
0] ' X =1 ( O ') A
+2; - / '
16. Graph the function r(x)={; ’ :j&_ll SEF (v per
17. Graph the function A(x) = x5 x<0
. Graph the function A(x) = £ x50 Cri flmbi
2% + L)- xX2q
18. Graph the function f(x) = x++/x? +2 SEE Gaaen  Tlxy= Xt IX[+2° 2 ;' X <o
19. Graph y = f(g(x)) AND y = g(H(x))for the functions f(x) =16~ x*and g(x) = .
Also state the domain of each.
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